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1. Do not write YGW name or Pllt 3“3’ Om Ina.l'k of ldennﬁcat]on anywhere n the OMR Response Sheet. IF ANY MARK OF
IDENTIFICATIONS IS DISCOVERED ANYWHERE [N OMR RESPONSE SHEET, the OMR sheet will be cancelled,
and will not be evaluated.
z’ *

e Choice Questions, For each wrong answer, 0.25 marks will be deducted.
C GADGETS LIKE MOBILE PHONE, iPhone, iPad, page ETC. is strictly
r of questions at the beginning of the test. If any question is found missing in the serial
to the notice of the Invigilator. No pages should be torn out from this question booklet.,
' sheet which is provided separately. OMR Response sheet must be handed over

e folded or wrinkled. The folded or wrinkled OMR/Response Sheet will not be

te space (above) and on the OMR Response Sheet. Any other details, if asked for,

A, B, C and D. Select one of the most appropriate options and fill up the
Sheet provided to you. The correct procedure for filling up the OMR

e 2T

c ircles in OMR Response Sheet. Darken the selected oval/circle
; oval/circle should be completely filled and darkened as shown
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1. Which of the following would yield only one type of monomer after complete hydrolysis?

A. Glycogen
W

C. Lipoprotein
D. Triacylglycerol
2. A child with Edward’s syndrome (18 trisomy) having his mother where non-disjunction

of chromosome 18 occurred in the division of the secondary oocytes. What is the chance
that a mature egg arising from this cell division will receive two numbers of chromosome /

187 o -—J D—_-ﬁ Q\
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[A will be more stable in =

oups of antibodies can cross placenta?

m albumin solution determined using a UV
f its extinction coefficient was found to be 1.4
it of the protein is 70 kDa, its concentration in

croscopy to study
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8 An example innate immunity 1S :
A. T lymphocyte
; B. B lymphocyte
9 C. Thyroid cell
D. Neutrophil
9. Genetically engineered bactena are being used in the commercial Pl’OduCﬁ()ﬂ of:
A. thyroxin
B. Testosterone
0 C. Melatonin
D. Insulin
Which ecological pyramid of the following is always upright and cannot be inverted?
A. Pyramid of food
B. Pyramid of number
C. Pyramid of biomass
B i of cocry
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16. When severzl genes are transcribed as one mRNA. the mRNA is said 1o be :
A Multimernic
B. Polymenic

o C. Polycistronic

D. Polyclonal

17. A colour blind man and a phenotypically normal women have four children (each has 46
chromosomes)-a boy with haemophilia but no other traits : 2 boy with colour blindness
ut no other traits: a colour blind girl but no other trzits; and a phenotypically normal girl
{all mrzits mentioned are inherited as X-linked recessive). What is the probability that the

mother is, for colour blindness? fy XX * %X
i - _XC - )(CS - e 3 ;(cx
v x& XY

g contraction of uterus during parturition is :

DITNONCS

>nt that can be used as an antifungal drug because of its ability to bind
brane and change membrane fluidity is

ppressor gene, which of the following stau:ment

17
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23. The protection against small pox virus infection afforded by prior infection with cow pox

virus represents
A. Antigenic specificity
- 0 B. Antigenic cross-reactivity
U C. Enhanced viral uptake by macrophages
D. Innate immunity
24. An antibiotic actinomycin D blocks:
A. Transcription in eukaryotes.
B. Transcription in both eukaryotes and prokaryotes

% m C. Polypeptide chain elongation —

D Polypeptide chain initiation.

25, thch of the following would cause a decrease in the binding affinity of haemoglobin for

oxygen? i
A. Increased pH of the blood —_
B. Ing:easedtemperamre of the blood ~

DPG levels in erythrocytes ~ 9

7D
reaction A 2B, AH<0andAs>() then b“/
118 spontaneous 7 2
pa”

1is endothermic 7§

& i
|
e system will decrease if the reaction proceeds. |
——— |

g type of DNA is the most conserved amongst the organisms?

of the following kinetic parameters requires that absolute
is known?

i ru‘\l"v"n -l ke uk . \-'r«i"':"—;@
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© 3L0.1mL of a bacterial culture is diluted into 9.9 mL buffer; 0.1 mL c?f tl?s dilutior.r 1s again
/0% diluted in 9.9 mL of resh buffer. Plating 0T mL from the second dilution tube yields 72
oy / colonies on a petri plate. What is the cell density of the original culture?
Euls A. 7.2 x 10° cells per mL

B. 7.2 x 10° cells per mL
’ C. 7:2X% 10% cells per mL
D. 7.2 x 107 cells permL
32. Two proteins of similar molecular weights (within 100 Dalton) and the same net charge in
solution but differing in their amino acid composition can best be separated by

A. Cation exchange chromatography
Anion exchange chromatography

n chromatography
ted, the atmosphere of earth was

—_—

"
N,

ibian embryonic development is



39, Which of the following statements is false about lac operon?
A. It was discovered by Jacob and%onod e
B. It has three structural genes - o
C. CANP:CAP exerts a negative regulatory effect on lac operon
D. Repressor bound to operator site does not allow expression of lac operon —
@) Remarkable fall in Blood pressure effects the normal function of kidney reducing

-—

A. Secretion of nitrogenous wastes

B. Renal filtration

C. Reabsorption of useful substances

D. Glomerular filtration

quare root of X is in the inverse variation of the cube of y. If x=16 when y=2, then what

| . \ -

/ b= b
4 9.

1g diseases is transmitted by a protein?

S
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itanol into 1-chlorobutanol in one step? i
= - NI . S W i C
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50. What is the product of the following reaction?

O

CH3NH,
pH 4.5

NH

1e following reaction.

SOCl,
pyridine

canr;é'd by CamScanner



p—

williamson ether synthesis produces ether by reacting an
52 A}oohOI with a metal

xide with a metal
B :‘llizmde with an alkyl halide.

% & D. Alkyl halide with an aldehyde.
53, pmd:ct the major product of the following reaction.

» 10 u- O
and p- chlorophenol w
¢,

luene and p- hydroxyltoluene & 5
luene o 'H
following compounds does NOT give a tertiary alcohol upon reaction Wi

—

%M?/P,'f CFC“E‘C’ —exo

vert cyclopentanol to bromocyclopetane ?
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57. When the anions acts like a nucleophile, what type of reaction occur?

A. Addition Sy " i
B. Substitution«” &'/f(') (:'4)1)'—“\ '
@ C. Elimination
D. Cannot be predicted
58. If 10 mL of a 1 M solution of Barium hydroxide is diluted into 100 mL, then how many

millimoles of the coﬂmund would be present in the solution
S kg 10 4 Gomd — Voo,

iy M- WB y 070 \= Wiy |so¥ |
= BB = _WE | :

& Me AR, & g oo

C. 10 Y e
Lo G
D. 100 mB TR
59. The de Broglie wavelength of a particle of mass m and velocity v is
A. Wmy f= he A= he e
B. hmv A TR A
: C. mhw
B e
h »f ketones with peroxybenzoic acid will give what type of product according @

liger oxidation reaction?
id

. 'l.m‘ ' .
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73. How many ATP required for the conversion of one N, to 2NH, " during biological
nitrogen fixation ?
A. 8 ATP
B. 10 ATP
C. 12 ATP
D. 16 ATP
74. Antiparallel beta-sheet are often found at the surface of a protein, while parallel beta-
ﬂ!ﬂmmms are found in the interior of the proteins.From this information, one can

fourth amino acid in an antiparallel beta-sheet is charged
a-sheets are composed of hydrophilic amino acids only

ts are composed of hydrophilic amino acids
sheets are composed of alternating hydrophobic and hydrophilic

Y with maternity wards are checked for the percentage of boys and

year and X reports 52% boys and Y reports 58% boys. A simple
is

were born in Hospital X

dren were born in Hospital Y

lom variation and conclusion cannot be drawn about hospital size

ren born in both hospitals is exactly equal

1x) with respect to X is R s Cosr

T dx

the start site of proteins:

NA for the first AUG
nger RNA overlaps with the first AUG
overlaps with the translational start
tein:lipid?

equency of heterozygotes, if the
| and 0.4 Wiu be:
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of the following co-enzymes acts as an electron sink to promote catalysis?

———

. o

cyl sulphate is used in the gel electrophoresis experiments for the separation
eins based on their molecular size. SDS is used in this experiments to

face tension of the buffer
arge density on the proteins
 oceurs in the :

filaments can be induced by

in monomers in-vitro to form actin
# =

sent in the photosynthetic clectron transfer reactions:

L X — e M l‘—ﬂ ac t €

tions of various antibodies in the serum is /are in

s) of proteins occur(s) in the

:—"-.- B e
Tyl O )
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dergoes two rounds of

e double stranded DNA molecule ur
lionctivity status of the

88. In a completely radioactiv
padionetive label, what in the rac

replication in a solution free ol
resulting four double-stranded DNA molecule?
A. Half should contain radioactivity
B. All should contain radioactivity
C. Half should contain radioactivity in both strands,
D. One should contain radioactivity in both strands.
89. Carbon-di-oxide is transported as :
A. Dissolved in blood plasma —~
Carbamate
‘carbamate and bicarbonate
veen a fatty acid and a glycerol moicty in a phospho
d

lipid is known as:

glucoside
0 fold with water and the pH of the diluted solution was measured
n with standard solutions. Given that the activity coefficient

0.01. What would be the pH of the solution?

el planes. What is the distance
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0K, If you are (rying 1o test for g possible ARROCItIon he
Wlonde) and eye color (Blue, 13,k iree |
you use’?

A tiest

By 2-test

., Fetest

D. ANOVA

Which of the following techniques is used for quantification of mRENA?

tween hair color (Black, Brown,
), which of the following statistionl test will

£ tion
Lon

anon

 relieves torsional strain while double stranded DNA is being unwound is

vou postulate for a polypeptide having a Z’In~ﬁngcr motif?

|
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